
Choose which chili challenge you would like to start with and copy the number sentence 

into your book. Don’t forget to show your workings to prove your answer.  

Addition Chilli Challenges:  

MILD MEDIUM SPICY 
3 + 5 =  
4 + 6 =  
8 + 3 =  
9 + 9 =  
10 + 5 =  
13 + 6 =  
10 + 10 =  
11 + 8 =  
10 + 9 =  
17 + 3 =  

10 + 14 =  
15 + 12 =  
18 + 14 =  
10 + 19 =  
20 + 11 =  
28 + 15 =  
3 + 26 =  
34 + 20 =  
20 + 30 =  
13 + 32 =  

42 + 21 =  
36 + 29 =  
47 + 28 =  
51 + 32 = 
63 + 19 =  
57 + 38 =  
28 + 49 =  
58 + 31 =  
83 + 20 =  
100 + 35 =  

 

Subtraction Chilli Challenges:   

MILD MEDIUM SPICY 
10 – 3 =  
10 – 9 =  
15 – 5 =  
14 – 7 =  
20 – 6 = 
20 - 10 
12 – 10 =  
17 – 12 =  
20 – 15 =  
20 –18 = 

20 – 16 =  
25 – 12 =  
28 – 16 = 
24 – 10 =  
30 – 10 = 
30 – 15 = 
37 – 11 = 
33 – 13 = 
47 – 25 = 
49 – 14 =  

84 – 28 =  
45 – 38 = 
47 – 21 = 
83 – 32 = 
72 – 48 =  
57 – 12 = 
92 – 63 = 
76 – 35 = 
100 –45 = 
100 – 84 = 
100 – 95 = 
100- 62 =  

 

Extra Spicy Challenge:  

Can you write a sentence about your understanding?  

Eg: I knew this because...  

I know that 12 + 15 = 27 so I now know that 27 – 15 = 12.  

I know that the ones add up to 7 and there are 2 tens so the answer will be 27.  

First I ….. Then I..... to get the answer...   


